Soustraction Avec Un Zéro (H)

1000
- 224

10 000
- 6893

10 000
- 282

10000
-6 501

1000
- 867

10000
-8 635

1000
- 300

Calculez la différence.

10 000 10 000
- 6143 -2703
10 000 1000
- 680 - 895
1000 10 000
- 672 - 3852
10 000 10000
- 3 246 -6 534
10 000 1000
-8474 - 980
1000 10000
-61 -7 640
10 000 10 000
-9922 -9099

10 000
-7 368

10 000
- 3007

10 000
- 4484

10 000
- 6 040

10 000
-7134

10 000
-9 826

1000
- 741
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Soustraction Avec Un Zéro (H) Réponses

1000
- 224

776

10 000
- 6893

3107

10 000
- 282

9718

10 000
-6 501

3499

1000
- 867

133

10 000
-8 635

1365

1000
- 300

700

Calculez la différence.

10 000
-7 368

2632

10 000
- 3007

6993

10 000
- 4484

5516

10 000
-6 040

3960

10 000
-7134

2 866

10 000
-9 826

10 000 10 000
- 6143 -2703
3 857 7297
10 000 1000
- 680 - 895
9320 105
1000 10 000
- 672 - 3852
328 6 148
10 000 10 000
- 3 246 -6 534
6 754 3 466
10 000 1000
-8474 - 980
1526 20
1000 10 000
-61 -7 640
939 2 360
10 000 10 000
-9922 -9099
78 901

174

1000
- 741

259
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